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H: HIIS2e(HEES/HIIE)
S MYIIHEE 23 cet )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S AE A 570,763 3,929,053 A 3,358,290
HIl22el (B#ZES/HIIS) 472,217 3,834,682 A 3,362,465
MEDIHEE 24 390,517 3,459,082 A 3,068,565
BHRl Medlel M0 114,555 111,753 2,802
101 @124l 5,357 5,002 355
04 D12t 22 HEE = 5,357 5,002 355
OXe D2 diEd Mg S0 g2
44,640 * 102 = 42 * 33| 5,357
201 LEr2 Y| 89,868 93,421 ~3,553
01 At 22l 1,000 1,000 0
OAEE8X FL(SHAMEX) 5,0008 * 2008 1,000
02 =224l 88,868 92,421 A 3,553
Ost=HIlS g sl 1,000,000 = 14 1,000
O 222 AZH]
1,679% » 24 = 8AI2F = 1202 = 1CH 3,224
OHssAdl(HEgd 22, 22154H0I6t)
1,897& = 1,294m 2,455
O E Al HIIEH(50E)
500,000& = 1& = 13 500
OE & CCTV |RAI E=Hl 500,000& = 24! 1,000
ONEE AHINI(50€) |X 2=t
2,000,000 * 14 2,000
ONEd eraxte =28 Jtilet =~al
1,000,000& * 14l 1,000
O240] IS XU (ZE=02109014, 0.8m") 21,593
— S50 1,679% » 150 * 2Al2F » 250 12,593
— =cltl 1,500,000& = 63l 9,000
OEIZES MU RXH(Z=06Lt9215, 15&) 7,618
- S50 1,679% = 1AI2F » 114 = 250 4,618
— =cltl 500,000& * 62 3,000
O8d ZHI=XHI(Z=09129003, 29€) 29,611
—-S5U 1,679 = 2AI2t = 184 = 2502 15,111
— =cltl 1,500,000& * 33l 4,500
— X e 5,000,000& =+ 23| 10,000
OA8stE RAHI(ZS82143227, 1€) 6,543
- S50
1,6798 » 6.006£ * 2Al2H » 250 5,043
— =2l 300,000& * 53 1,500
O E 2AAL=I| 7 22 10,180
et
1,861& = 244 = 3AI2t = 103 » 73 9,380
— =cltl 400,000& * 23] 800
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SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
OMY I E 22 WFI SFU
1,861& = 24 = 8BAI2F » 72 = 1[} 2,144
206 M = Hl 8,330 8,330 0
01 X2 H| 8,330 8,330 0
Ogeiotg ¢l 4,830
—=2= 30,000& = 15kg *» 7€ 3,150
= 30,000& * 8kg * 7€ 1,680
OWLE SAUH 7Y
100,000 * 58 x 78 3,500
401 Al HI L £ 0HHI 9,000 5,000 4,000
01 Al& H| 9,000 5,000 4,000
OMYIJIFAMMMEE JIHANE SANES
3,000,000 = 14! 3,000
OEgd AMNEE RANES 2,000,000& = 14! 2,000
OE&EAIRA 242 4,000,000& * 14 4,000
405 XHAHFEIEHI 2,000 0 2,000
01 JHAHE 2 Z 5 S H 2,000 0 2,000
O EANRPA HSEIS A WA
2,000,000& = 14! 2,000
BELHE 29 56,024 50,352 5,672
201 LBt 9| 23,224 23,552 A\ 328
02 2224 H| 23,224 23,552 A 328
OfxZAANEE=S (XKoot 2 EL, 2L MAIA)
20,000,000 * 14! 20,000
O&F&E4 Hel&d HeuH=z2(5d)
1,679 * 24 * 8Al2F = 120 * 1CH 3,224
206 M = H| 2,800 2,800 0
01 X2 H| 2,800 2,800 0
OFELHRT 4728 2B
5,0002 * 60JH 300
OFEE=+HM2E JHANE FI22Es8 B3 #¢
200,000& * 5= * 13 1,000
OFE=+ M2 HIANE s 823 #¢
100,000& = 10 * 13 1,000
OHE+HMAE L 2RMMIANL JIHES
S 2 100,000& * 5& * 13| 500
401 AIEHIZL 201 Y| 30,000 24,000 6,000
01 A& H| 30,000 24,000 6,000
OHEL X BEZI WAz
2,000,0008 = 5= 10,000
OFE4 Mal& HIIANE =2l
5,000,000& = 1A 5,000
OF=E4 Mal& ZAIHNH & =2l
5,000,000& = 1A 5,000
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Ee: MYDIIHEE 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OF¥E&E+ Ml EZ2 =l
5,000,000& = {14l 5,000
OF&E:x Ml 235 ¢€E8 uA=2l
250,000 * 2000 & 5,000
Meg 483 22 219,938 196,977 22,961
101 Q121 H] 157,758 148,797 8,961
04 JI2ZtHIZ22ANEE S 157,758 148,797 8,961
OMHDIHEEE HdEHY 2
44 6403 « 15H x 230 154,008
OMAHIIHEEZEE HEXAA HE=2
100,000 = 15 x 23] 3,000
OMHIIHEEE HEXAX A
50,000 * 15 * 13| 750
201 Bt 7,130 7,130 0
01 AF2 22| H| 1,800 1,800 0
OMERAT DA U &Y 2
10,0008 * 159 = 12&€ 1,800
02 =224 H| 5,330 5,330 0
OMEEE HdE& Uetg 22
1,850 * 2004 ~* 4€ 1,480
o2 X4l 350,000& = 14! 350
OHAEZE 220 KA
3,000,000 = 1CH 3,000
onNegass dg8d X122 500,000& = 14l 500
206 M EHl 1,050 1,050 0
01 X2 Hl 1,050 1,050 0
OMEBE S8y MU Y 1,050
— 2= HH2 LU 10,000& = 7004 700
— A 7,000& * 5004 350
307 2iz2to| & 52,000 40,000 12,000
05 QIZ2tE 2 52,000 40,000 12,000
QHIIP(HESM)AE XML =22
130,000 = 400& 52,000
405 XHAHF S HI 2,000 0 2,000
01 AL 2 ZF S| 2,000 0 2,000
OMEBHEE Holg M8 &3
;000,000 * 14! 2,000
s=EHed 249 81,700 375,600 A 293,900
=M Hel 81,700 375,600 A 293,900
201 et 5,700 5,100 600
01 AFR 2t 2| bl 5,700 5,100 600




PN BFIMNSA
HH: oS (#BES/HIIS)

©el: 2hMeld 29 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIY2RXN L=H(HY=s e, 22 §5
E) 90,000& * 6 * 53 » 13l 2,700
O7s%4s *¢ 3,000
—AuaE 60,000& = 105 600
—u=s 100,000& * 6% x 43 2,400
206 = Hl 7,000 4,500 2,500
01 MHZ 4l 7,000 4,500 2,500
O=fdxXel JHANE RA2eE B35 74
200,000& » 58 = 18 1,000
OzfdxXel HIANE RA22E B35 72
100,000& * 108 * 18 1,000
OSLAMMAL SXNB2IS 245 37 7Y
100,000& * 5& * 13 500
O=fdXelAld HEIID ¢
250,000 * 4& = 13 1,000
O=RAdHeAlIE EFM 2
5,000& = 7004 =« 13l 3,500
401 AIEHI L 20 69,000 366,000 A 297,000
01 A& HI 69,000 363,840 A 294,840
O: MRX &4 5,000,000& = 13l 5,000
O2=z?dXMelAME 8= Meldl el
15,000,000& * 14 15,000
OSLAMMANL 2E BT 22|
1,000,000& * 3& 3,000
OafdXelAldg EFI| =2l
5,000,000& = 14 5,000
O2=fdXMelAME Byl =2
20,000,000& * 14 20,000
O2=dXelAlE S24H0E 2H0 =al
10,000,000& * 14 10,000
O2=fIdXelAle 2H JIsg +=cl
5,000,000& = 14 5,000
O2=xdMelAE 23S HotE wH ==2al
3,000,000 * 14 3,000
Ozfdxel HIANE =2l
3,000,000 * 14 3,000
HE2HZH (BHF AL ) (DIEH/DIEH) 98,546 94,371 4,175
el 2 71,024 66,993 4,031
ol 2| 71,024 66,993 4,031
101 124l 71,024 66,993 4,031
01 2= 71,024 66,993 4,031
Oozuz22+¢ 71,024
— B AAABR Y
8,930% * 6H » 36AI2t » 128 23,147
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K- B S (3H) - MBAY - B 0 4t 04 il
— S0 @ EeTMHNE 2
A 47,877
A2t (02220 U2 =2
2) 8,930& * 1Y = 7AI2t x 3652 22,817
or2t2f4 23,8163 » 1% » 3652 8,693
52d2F2g 71,7813 x 28 x 114 16,367
23l 27,522 27,378 144
=&l 27,522 27,378 144
201 Bt A | 5,202 5,058 144
01 AP 22l Yl 5,202 5,058 144
OsAIEX #¢ 15,000& * 62A * 128 1,080
OSZ20HAdl 6,000& * 64 » 6% » 12& 2,592
O =44 1,170
— T2lE %2 100,000 * 1CH = 50/100 50
— T2 EY 200,000& = 53] = 104 1,000
—PC =2l 100,000& = 601 * 20/100 120
OJIEF AFR 22| 5,000& * 6YH * 12& 360
202 (4] 22,080 22,080 0
01 2L Y] 22,080 22,080 0
O=2Wo | 22,080
— ZHLH O B 20,0003 *» 69 » 12 * 12& 17,280
— 2204 H| 80,000& * 6Y x 10 4,800
203 ¥R =&H| 240 240 0
02 RN R = XY 240 240 0
OFAINMARFEY| 40,000& *» 69 240




